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O. P. JINDAL SCHOOL, SAVITRI NAGAR

Annual Examination (2022 - 2023)
Class: XI MM: 70

Subject: Informatics Practices (065) Time: 3 Hrs.

(Fifteen Minutes Extra will be given for reading the Question Paper)
General Instructions:

» This question paper has 07 pages.

This question paper contains five sections, Section A to E.

All questions are compulsory.

Section A has 18 questions carrying 01 mark each.

Section B has 07 Very Short Answer questions carrying 02 marks each.
Section C has 05 Short Answer type questions carrying 03 marks each.
Section D has 03 Long Answer type questions carrying 05 marks each.

Section E has 02 questions carrying 04 marks each. One internal choice is given in Q35.

V V V V V V V VY

All programming questions are to be answered in Python Language only.

Section —A

1 A computer along with hardware and software together is called

a) Hardware Unit ¢) Computer System
b) Software Unit d) Input Unit
2 17ZB=
a) 1024 MB c) 1024 PB
b) 1024 GB d) 1024 EB

3 The process of Fetching or retrieving deleted or corrupted and lost data from secondary

storage is known as —

a) Data Recovery - ¢) Restoring Data
b) Data Backup d) Data Deletion
4 Which of the following acts as an interface between the device and operating systems?
a) Language Processor ¢) Antivirus Software
b) Device Driver d) Operating System

5 Shourya is working in python interactive mode. He noticed this symbol - >>> but forgot
what it is called? Select an appropriate option for him out of these?
a) Python Shell c) Python prompt
b) Python Script | d) Python Interpreter
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16 Rajveer wants to rename column in display result for his query. He has given the following
queries, select correct query for him:
a) select ename, salary*12 Annual Salary from emp;
b) select ename, salary*12 rename “Annual Salary” from emp;
¢) select ename, salary * 12 change “Annual Salary” from emp;
d) select ename, salary*12 as “Annual Salary” from emp;
Q17 and Q18 are ASSERTION and REASONING based questions. Mark the correct choice as

(a) Both A and R are true and R is the correct explanation for A

(b) Both A and R are true and R is not the correct explanation for A
(c) A is True but R is False

(d) A is False but R is True

17 Assertion(A): An intelligent machine is supposed to imitate some of the cognitive functions of
humans like learning, decision making and problem solving.
Reasoning(R): In order to make machines perform tasks with minimum human intervention,
they are programmed to create a knowledge base and make decisions based on it.

18 Assertion(A):Robots were initially conceptualised for doing repetitive industrialtasks that
are boring or stressful for humans or were labour-intensive.
Reasoning(R): Algorithms are one of the prime components of a robot.

Section - B

19 What is the purpose of software? Explain in detail.
20 Rahul has written following code into python but he is not able to get the correct output.
n=int(“Enter number”)
triple=n**3
Print(“Number three times:”,n)
Identify the syntax and logical errors and write the correct code. Underline each correction.
OR
Do as directed:
i. Assign 5 to a variable x.

ii. Write statement to compute the square of given number.
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27 Differentiate between Augmented Reality and Virtual Reality.
28 Write any three advantages of DBMS over flat file system.
29 Define following:

i) Database Schema ii) Database Instance iii) Database Engine
30 Explain the range() function with its parameters and example.

OR
Write python program to find sum of odd numbers from 1 to 10.
Section — D

31 Given a list 1=[13,14,15,112,125.7,[12,11,10,15],188], answer the following questions:
a) Write code to print [14,112,[12,11,10,15]]
b) Write code to print [13,15,125.7,188]
¢) Write code to print [14,125.7]
d) Write code to print [12,11,10,15]
e) Write code to print [188,125.7,15,13]
OR
Write a program to accept n number of elements into the list and print only palindrome

numbers from the list.
32 Consider the following dictionary:
od={1:"0One’,3:’Three’,5,’Five’,7:’Seven’,9:’Nine’ }
Perform the below mentioned operations in the dictionary:
i) Write command traverse a dictionary and print key value in this manner

1 -One
3 — Three
5 —Five
7 — Seven
9 - Nine
ii) Write command to print only keys of dictionary

iii) Write command to print only the values which doesn’t contain ‘n’
iv) Write command to print the corresponding value to the key 7
v) Write command to delete the last element of dictionary
OR
Write a program to create a dictionary with rollno, name and marks of n no. of students and

display names of students who have scored more than 90 marks in any subject.
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35 Convert the following into kilobytes:
a) 30 MB b) 40 GB ¢) 1.5 TB or 2048 Bytes

OR
What are literals in Python? How many types of literals are allowed in Python?
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